Math 120 Spring 2014 - Quiz FIVE
SHOW YOUR WORK

Consider the improper integrals below. Write down whether you think the integral converges or
diverges in the box (1 point). By selecting an appropriate integral (1 point), prove your selected
choice is correct by using the comparison theorem (3 points).

(a) (5 points) J = /:o et2+t+ldt‘ D§ V&&&ﬂ

(, i\
ek (SEGTE
4 Ao Chew T 7 oa A %b
e nees 2 | ~0 L (et
o s et diverss o [efder 1l yer
§ . o) , SN
| / = {im € —€ =
T L
t 7 ¢
vt 7
&
L Lttt T

Yt H €
pt 1t pe

/

ooy o T ‘ |
eif, "f’{."f{&{,{ > {C Of% L @Mﬁf{ém%
/ R
g ‘ e A
. o 1 B /
(b) (5 points) IC:/1 ﬁds r {)?\5&/@%{3@ {mﬁ
‘ L { S Wheh v relw (ng Jg (,{)3\5\/%@
A s> — ~ = ¥ PRI
\}f“{{e‘ *j$ N k {\ -
e hetd o hes T 4L 4 { (RSO LA
s =
s 7 g = i%i = S i
Y ¢ o
’\’;L 7 (‘ O 4, < %;;M
4 b (L )
&7 < \ T4 5 |
S " 1 o
L{M{J ( 7 = | § L «}3 {{%BL;-Z_? |
- ( i b <’ A
Lo ¢ 2 e (38
- <4 de
5 -t | S{?( é‘\?’ . : M
S e s .
Vs 7 st TR 7




